17 31
665-2 6 20 7 20 31
174 8 5 10 5 62
217-1 10 5 12 5 62
1
ppm 0.005 0.001 0.000 )
ppm 0.037 0.012 0.001 )
ppm 0.022 0.004 0.000
ppm 0.6 0.3 0.1 o
(ppm) 0.089 0.036 2 0.003 °
(mg/m®) 0.124 0.032 0.000 o
(ppmC) 0.48 3 0.19 ¢ 0.11 °
1 °
2 5 20 1
3 6 9 3
4 6 9
5 6 9 3
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(ppm)

(ppm)

5%

25%

Hik

(ppm)

(ppmC)

0.5

0.4

0.3

0.2

0.1

(mg/m°)

0.0
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3 3
1
ppm 0.002 0.000 0.000 0.000 0.001
ppm 0.015 0.003 0.000 0.002 0.003
ppm 0.016 0.001 0.000 0.000 0.001
ppm 0.8 0.3 0.0 - -
(ppm) 0.081 0.030 ? 0.001 0.028 0.027
(mg/m®) 0.077 0.022 0.000 0.023 0.025
(ppmC) 0.36 3 0.23 ¢ 0.14 ° - -
1 o °
2 5 20 1
3 6 9 3
4 6 9
5 6 9 3
003 (PPM) 0.03 (ppm)
0.02 0.02
001 0.01
0.00 = : = : = 0.00 I T —
010 P2 015 (mg/m’)
0.08 0.12
006 0.09
004 0.06
o [n]
002 o [j 0.03 - o ]
4]
0.00 0.00
3-2
3 3 3 2
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5%

25%



3 4
1
ppm 0.006 0.000 0.000 0.001 0.001
ppm 0.028 0.005 0.000 0.002 0.004
ppm 0.038 0.003 0.000 0.000 0.002
ppm 1.1 0.3 0.1 - -
(ppm) 0.067 0.033 2 0.005 0.031 0.026
(mg/m*) 0.058 0.013 0.000 0.015 0.015
(ppmC) 0.29 3 0.18 * 0.11 ° - -
1 o .
2 5 20 1
3 6 3
4 6
5 6 3
0.03 (ppm) 0.03 (ppm)
0.02 0.02 e
25%
0.01 0.01
o o
0.00 —— —— 0.00 T
010 (ppm) 015 [(mg/m®)
0.08 0.12
0.06 0.09
0.04 0.06
o
0.02 LJ 0.03
: a :
0.00 0.00 :j
3-3
3 3
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